'LE(Q" PART NUMBER DESCRIPTION ProductiD | QTY.
ARK table top MDF 16mm
1 [H-48-003-T 140%100cm BU81014010 1
2 |H-48-005-T Ark dining table leg BU154800 4
Ark endstretchers
3 |H-48-006-T L572.3*B74mm BU15548420 2
4 [Felt @48 Felt Glide @48, white ba760081 4
5 |Cross Dowel M8 M8x12x70 Zn (Ark table) La950420 4
6 |Ark corner bracket Corner Broc:TIéeb’rlg?x]3Ox2 (Ark La952811 4
Pleksor 5067980008, M8,
7 |Star Washer DING798, 7n ba950905 8
Hexagon Socket
8 Bolt M8 M8x60mm,DIN912,Zn La902310 8
Pan Head Screw Pleksor 0212121901,
? 4,0 4.0x16mm, Zn 0a?50203 24
Pleksor 3414241482,
10 |Insert Nut Mé Méx10.5x13mm. Zn La952713 6
DETAIL A
) Ark stretchers 140cm
Cylinder Head Bolt Pleksor 1013111241,
12146 Méx60mm ,yZn ba?50305 | 6
13 |Dowel @10 Dowel 10x40mm bat10x40 8
Date approved: Date created: DIMENSION IN MILLIMETERS
20.03.2024 EUROPEAN PROJECTION 2 NO y
Approved by: Tolerance: HEI& LAND HAAZ;/Q;PUOF&E;&AJKZ
+/-0,3 mm+/- 0.3mjm 90439 EESTI
Drawn by: Sheet format/size: Scale: Units: THIS DRAWING IS THE PROPERTY OF HELLAND| Last saved:
Ergo A3 1:10 [ mm B e Bl OF 120.03.2024
Weight in grams: Material: Product ID: Last saved by:
\/N <not specified> HB488001E Ergo
Description: Part number/name: Revision: | Config name:
Ark dining table 140x100 H-48-001-A A |1400x1000




DETAIL A
SCALE1:5

ITEM

PART NUMBER

DESCRIPTION

ProductiD | QTY.

NO.
1 |H-48-003-T ARK MDF 16mm 200*100cm | BU8102003001 | 1
2 |H-48-005-T Ark dining table leg BU154800 4
Ark endstretchers
3 [H-48-006-T L572,3*B7 4mm BU15548420 2
4 |Felt @48 Felt Glide @48, white ba76008]1 4

5 |Cross Dowel M8

M8x12x70 Zn (Ark table)

a?50420 4

6 |Ark corner bracket

Corner Bracket 60x130x2
(Ark table)

0952811 4

7 |Star Washer

Pleksor 5067980008, M8,
DIN6798, In

a?50905 8

8 Hexagon Socket

M8x60mm,DIN?12,Zn

a?02310 8

Bolt M8
Pan Head Screw Pleksor 0212121901,
? 4,0 4.0x16mm, Zn 0a?50203 24
Pleksor 3414241482,

10 (Insert Nut Mé

Méx10,5x13mm, Zn

00952713 8

Ark stretchers 200cm

11 |H-48-004-T L1737*B74mm BU15548421 2
Cylinder Head Bolt Pleksor 1013111241,

12 \46 Méx60mm ,yZn ba?50305 | 8

13 |Dowel @10 Dowel 10x40mm bat10x40 8

Date approved:

Date created:
20.03.2024

DIMENSION IN MILLIMETERS

Approved by:

Tolerance:

+/-0,3 mm+/- 0.3mm

BALTIC

EUROPEAN PROJECTION H E L LAN D® HAPVAL,NOMME KULA

HAAPSALU LAANEMAA
90439 EESTI

Drawn by:
Ergo

Sheet format/size:

A3

Scale: Units: THIS DRAW”\lG IS THE PROPERTY OF HELLAND| Last saved:
_ BALTIC OU AND MUST NOT BE COPIED OR
110 [ mm USED WITHOUT OUR APPROVAL 20.03.2024

Weight in grams:

Material:
<not specified>

Product ID:
HB488003E

Last saved by:

Ergo

Description:

Part number/name:

Ark dining table 200x100, whole table top H-48-001-A

Revision: | Config name:

A |2000x1000




DETAIL C
SCALE1:7

ITEM

T PART NUMBER DESCRIPTION ProductiD | QTY.
1 |Felt @48 Felt Glide @48, white | ba760081 | 4
) Iéar,wOHeod Screw Plelffg)z]ogrl]%%?%zo}, 5a950203 | 68
3 |pexagon Socket M8x60mm,DIN912.2n | ba902310 | 8
4 [Star Washer O e pao M8 | ba9s0905 | 8
5 |H-48-006-T A eaahers BU15548420| 2
6 |Cross Dowel M8 M8x12x70 Zn (Ark table) ba950420 4
/ |H-48-005-T Ark dining table leg BU154800 4
8 |Ark corner bracket Corner(irﬁ(ﬁléek;rlces)oxBOxQ La?52811 4
9 |Dowel @10 Dowel 10x40mm bat10x40 8
10 |H-48-004-T Arkstretchers 200cm 1y 15548421 | 2
11 jgynchron Slide Aﬁées%ﬂéh&?? vsvh/%?oi%ws?sog | ba3o4s01 | 2
24.03.586-1
12 |H-48-008-T ARK SRR Nemm 1 Bug1020020| 2
o bors | puiole exemienied | ooauo | 2
14 |H-48-003-T ARK ende lable MDF 16mm pyg1020010| 2
15 |Dowel guide @8 tap @8mm, Zn La?53037 | 12
16 |Dowel guide @8 @8mm, Zn ba953037 | 12

Date approved:

Date created:

20.03.2024

Approved by:

Tolerance:

DIMENSION IN MILLIMETERS

EUROPEAN PROJECTION H E L LAN D® HAPVAL,NOMME KULA

HAAPSALU LAANEMAA

BALTIC
+/-0,3 mm-+/- 0.3mm 90439 EESTI
Drawn by: Sheet format/size: Scale: Units: THIS DR(/:A\\(/)VI.[\IG IS THE ERO(;ERTYCO(; HELLgND Last saved:
) BALTIC OU AND MUST NOT BE COPIED OR
Ergo A3 1110 [ mm USED WITHOUT OUR APPROVAL 20.03.2024
Weight in grams: Material: Product ID: Last saved by:
<not specified> HB488002E Ergo

Description:

Part number/name:

Ark dining table extendable 200x100, w/2 H-48-001-A
insert plates (260x100)

Revision: | Config name:

A |2000x1000
Extendable




	1400x1000
	Drawing View1
	Detail View A (1 : 5)

	2000x1000
	Drawing View3
	Detail View A (1 : 5)

	Sheet2
	Drawing View5
	Detail View C (1 : 7)


